Glow With Us® - 2010 Glow Products Catalog Bright Sticks - Brilliant Prices - Best Selections

www.GlowWithUs.com

1087 N. Auburn Woods Dr. Ph Palatine, IL 60067-9600 Fax

Ph: 847.348.8145 Fax: 847.282.4168 sales@glowwithus.com service@glowwithus.com

Available Colors: Red, Pink, Yellow, Orange, Green, Blue, Purple, White & Assorted Colors 15mm equals approx. 5/8" 10mm equals approx. 3/8"

Most Popular Glow Products

Ready To Ship, Delivery Time: 1-5 Business Days in 48 US Contiguous States. Additional time may be required for certain Canadian Destinations.

Picture	Code	Description	Packaging
	BGS 201	6" Sticks (15mm Dia.) Individually Foil Packed	1 pc/bag, 50 bags/box, 10 boxes/case
		Qty. of Sticks	Price Per Stick
		25-199	\$0.54
		200-499	\$0.51
		500-799	\$0.49
		800-1499	\$0.46
		1500-3499	\$0.45
		3500 +	\$0.43
	BGS 221	6" Sticks (15mm Dia.) Bulk Packed	50 pcs/bag, 2 bags/box, 10 boxes/case
		Qty. of Sticks	Price Per Stick
		25-199	\$0.54
		200-499	\$0.51
		500-799	\$0.49
		800-1499	\$0.46
		1500-3499	\$0.45
		3500 +	\$0.43
	BGS 203	6" Slim Sticks (10mm Dia.) Individually Foil Packed	1 pc/bag, 60 bags/box, 10 boxes/case
		Qty. of Sticks	Price Per Stick
		25-199	\$0.44
		200-499	\$0.43
		500-799	\$0.42
		800-1499	\$0.40
		1500-3499	\$0.38
		3500 +	\$0.37

	BGS 202	4" Sticks (10mm Dia.) Individually Foil Packed	1 pc/bag, 100 bags/box, 10 boxes/case
·		Qty. of Sticks	Price Per Stick
		25-199	\$0.35
		200-499	\$0.33
		500-799	\$0.31
		800-1499	\$0.29
		1500-4999	\$0.27
		5000 +	\$0.19
11	BGS 222	4" Sticks (10mm Dia.) Bulk Packed	100 pcs/box, 10 boxes/case
<u>-</u>		Qty. of Sticks	Price Per Stick
		25-199	\$0.35
		200-499	\$0.33
		500-799	\$0.31
		800-1499	\$0.29
		1500-4999	\$0.27
		5000 +	\$0.19
(# many open 24 hours i'm korin' if. iff.	BGS 217	6" Imprinted Sticks (15mm Dia.) Bulk Packed. One-time plate charrge \$48, Typical turn-around time: 1 week	100 pcs/box 10 boxes/case
		Qty. of Sticks	Price Per Stick
		500	\$0.79
		1,000	\$0.74
<u> </u>		2,000	\$0.72
POST OF MEMORY AS DEPOST SE WITH DEPOSE PROST SEASON DEPOSE DESCRIPTION OF SEASON DEPOSE DESCRIPTION DE	BGS 213	4" Imprinted Sticks (10mm Dia.) Bulk Packed. One-time plate charrge \$48, Typical turn-around time: 1 week	100 pcs/box 10 boxes/case
		Qty. of Sticks	Price Per Stick
		500	\$0.64
		1,000	\$0.62
		2,000	\$0.60

BGN	407	22" Tri-Color Necklaces 6mm Dia. Bulk Packed	50 pcs/tube, 12 tubes/case
		Qty. of Tubes	Price Per Tube
		1-7	\$19.5
		8-19	\$18.0
		20-39	\$17.0
		40-59	\$16.0
		60-79	\$14.5
		80+	\$13.5
BGN	408	22" Tri-Color Necklaces <u>6mm</u> Dia. Bulk Packed	50 pcs/tube, 12 tubes/case
		Qty. of Tubes	Price Per Tube
		1-7	\$19.5
		8-19	\$18.0
		20-39	\$17.0
		40-59	\$16.0
		60-79	\$14.5
		80+	\$13.5
BGN	406	22" Assorted Color Necklaces 6mm Dia. Bulk Packed (5) Colors: Red, Yellow, Green, Orange, Blue, Each Color 10 Pieces	50 pcs/tube, 12 tubes/case
		Qty. of Tubes	Price Per Tube
		1-7	\$19.5
		8-19	\$18.0
		20-39	\$17.0
		40-59	\$16.0
		60-79	\$14.5
		80+	\$13.5
ВВ :	301	8" Uni-Color Bracelets 5mm Dia.	100 pcs/tube, 50 tubes/case
		Bulk Packed	100 pos/tube, so tubes/ease
		Qty. of Tubes	Price Per Tube
		Qty. of Tubes	Price Per Tube
		Qty. of Tubes	Price Per Tube \$14.5
		Qty. of Tubes 1-4 5-9	Price Per Tube \$14.5 \$13.5
		Qty. of Tubes 1-4 5-9 10-19	Price Per Tube \$14.5 \$13.5 \$11.5

Tri-Color Glow Glasses 1 pc/bag, 50 bags/box, 10 boxes/case 5-49
S-49 \$0.64
S0-99 \$0.59 \$0.59 \$0.56 \$300 + \$0.53 \$0.59 \$0.56 \$300 + \$0.53 \$0.53 \$0.59 \$0.53 \$0.59 \$0.50 \$0.50 \$0.50 \$0.50 \$0.50 \$0.69 \$0.69 \$0.64 \$0.299 \$0.54 \$0.59 \$0.54 \$0.59 \$0.59 \$0.59 \$0.53 \$0.99 \$0.53 \$0.99 \$0.53 \$0.49 \$0.46 \$0.45 \$0.46 \$0.45
S0-99 \$0.59 \$0.56 \$300 + \$0.53 \$0.59 \$0.56 \$300 + \$0.53 \$0.53 \$0.59 \$0.53 \$0.59 \$0.53 \$0.69 \$0.69 \$0.69 \$0.64 \$0.299 \$0.54 \$0.69 \$0.54 \$0.69 \$0.54 \$0.69 \$0.54 \$0.59 \$0.59 \$0.59 \$0.53 \$0.99 \$0.53 \$0.99 \$0.53 \$0.49 \$0.46 \$0.45 \$0.46 \$0.45
BGO 805 Bunny Ears 1 pc/bag, 30 bags/box, 10 boxes/case
BGO 805 Bunny Ears Individually Foil Packed 1 pc/bag, 30 bags/box, 10 boxes/case Qty. of Pieces
Bunny Ears 1 pc/bag, 30 bags/box, 10 boxes/case
Description
S-49
S0-99 \$0.64
100-299 \$0.58 300 + \$0.54
100-299 \$0.58 300 + \$0.54
BGO 806 Mouth Guards 1 pc/bag, 120 bags/box, 10 boxes/case Qty. of Pieces Price Per Piece
BGO 806 Mouth Guards Individually Foil Packed 1 pc/bag, 120 bags/box, 10 boxes/case Qty. of Pieces Price Per Piece
Output
5-49 \$0.59 50-99 \$0.53 100-299 \$0.49 300 + \$0.46
50-99 \$0.53 100-299 \$0.49 300 + \$0.46 Heart Badges 1 pc/bag, 70 bags/box,
50-99 \$0.53 100-299 \$0.49 300 + \$0.46 Heart Badges 1 pc/bag, 70 bags/box,
100-299 \$0.49 300 + \$0.46 Heart Badges 1 pc/bag, 70 bags/box,
300 + \$0.46 Heart Badges 1 pc/bag, 70 bags/box,
BGO 801 Heart Badges 1 pc/bag, 70 bags/box,
Qty. of Piece Price Per Piece
5-49 \$0.59
50-99 \$0.53
100-299 \$0.49
300 + \$0.46
BGE 501 Glow Earrings Two-Piece Foil Packed 2 pcs/pair, 1 pair/bag, 120 bags/box 10 boxes/case
Qty. of Pair Price Per Pair
5-49 \$0.69
50-99 \$0.63
100-299 \$0.59
300 + \$0.56
BGR 601 Glow Rings Individually Foil Packed 1 pc/bag, 30 bags/box, 10 boxes/cas
Qty. of Piece Price Per Piece
5-49 \$0.59
50-99 \$0.56
100-299 \$0.53
300 + \$0.49

	BGH 906	Glow Cups Bulked Packed	6 pcs/bag, 2 bags/box, 12 boxes/case
		Qty. of Piece	Price Per Piece
		5-49	\$1.29
		50-99	\$1.24
		100-299	\$1.22
		300 +	\$1.19
K	BGH 902	8" Swizzle Sticks 6mm Dia. Ten-Piece Foil Packed	10 pcs/bag, 10 bags/box
		Qty. of Bag	Price Per Bag (10 Piece)
		5	\$3.99
		6-9	\$3.69
		10-29	\$3.49
		30 +	\$3.29
4	BGF 1003	1.5" Fishing Stick 4.0mm Dia. (Dry Power Glow, at least 6 Hrs.) Two-Piece Foil Packed	2 pcs/bag, 50 bags/box, 20 boxes/case
		Qty. of Piece	Price Per Piece
		10-49	\$0.29
		50-99	\$0.25
		100-499	\$0.21
		500-999	\$0.19
		1000+	Contact Us
1	BGF 1007	3" Fishing Stick 7.5mm Dia. (Dry Power Glow, at least 6 Hrs.) Two-Piece Foil Packed	2 pcs/bag, 50 bags/box, 20 boxes/case
		Qty. of Piece	Price Per Piece
		10-49	\$0.44
		50-99	\$0.39
		100-499	\$0.36
		500-999	\$0.32
		1000+	Contact Us

Wholesale Glow Products

Delivery Lead Time: 5-7 Weeks

Minimum Order \$900 (single or combined products of all types)

	BGS 204	8" Sticks 10mm Dia. Bulk Packed	25 pcs/tube, 50 tubes/case
_	Quantity	Price Per Piece	Total Price
	1000	\$0.41	\$409
	3000	\$0.39	\$1,179
	5000	\$0.38	\$1,904
	BGS 205	10" Sticks 10mm Dia. Bulk Packed	25 pcs/tube, 50 tubes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.55	\$546
	3000	\$0.52	\$1,572
	5000	\$0.51	\$2,538
+	BGS 206	12" Sticks 10mm Dia. Bulk Packed	25 pcs/tube, 50 tubes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.64	\$636
	3000	\$0.61	\$1,831
		A	
i	5000	\$0.59	\$2,956
	BGS 207	\$0.59 12" Sticks 15mm Dia. Bulk Packed	\$2,956 10 pcs/tube, 50 tubes/case
And the second		12" Sticks 15mm Dia.	
Samuel Control of the	BGS 207	12" Sticks 15mm Dia. Bulk Packed	10 pcs/tube, 50 tubes/case
THE REAL PROPERTY.	BGS 207 Quantity	12" Sticks 15mm Dia. Bulk Packed Price Per Piece	10 pcs/tube, 50 tubes/case Total Price
	BGS 207 Quantity 1000	12" Sticks 15mm Dia. Bulk Packed Price Per Piece \$1.14	10 pcs/tube, 50 tubes/case Total Price \$1,138
	BGS 207 <i>Quantity</i> 1000 3000	12" Sticks 15mm Dia. Bulk Packed Price Per Piece \$1.14 \$1.09	10 pcs/tube, 50 tubes/case Total Price \$1,138 \$3,278
	BGS 207 Quantity 1000 3000 5000	12" Sticks 15mm Dia. Bulk Packed Price Per Piece \$1.14 \$1.09 \$1.06	10 pcs/tube, 50 tubes/case Total Price \$1,138 \$3,278 \$5,293
	BGS 207 Quantity 1000 3000 5000 BGS 208	12" Sticks 15mm Dia. Bulk Packed Price Per Piece \$1.14 \$1.09 \$1.06 14" Sticks 15mm Dia. Bulk Packed	10 pcs/tube, 50 tubes/case Total Price \$1,138 \$3,278 \$5,293 10 pcs/tube, 50 tubes/case
	BGS 207	12" Sticks 15mm Dia. Bulk Packed Price Per Piece \$1.14 \$1.09 \$1.06 14" Sticks 15mm Dia. Bulk Packed Price Per Piece	10 pcs/tube, 50 tubes/case Total Price \$1,138 \$3,278 \$5,293 10 pcs/tube, 50 tubes/case Total Price

	BGS 209	15" Sticks 15mm Dia. Bulk Packed	10 pcs/tube, 50 tubes/case
	Quantity	Price Per Piece	Total Price
	1000	\$1.45	\$1,454
	3000	\$1.40	\$4,189
	5000	\$1.35	\$6,763
	BGS 210	16" Sticks 20mm Dia. Bulk Packed	5 pcs/tube, 50 tubes/case
	Quantity	Price Per Piece	Total Price
	1000	\$2.05	\$2,047
	3000	\$1.96	\$5,895
	5000	\$1.90	\$9,518
V	BGS 211	24" Sticks 20mm Dia. Bulk Packed	5 pcs/tube, 20 tubes/case
	Quantity	Price Per Piece	Total Price
	1000	\$3.86	\$3,864
	3000	\$3.71	\$11,128
	5000	\$3.59	\$17,967
	BGS 212	4" Sticks 12mm Dia. Individually Foil Packed	1 pc/bag, 100 bags/box
	Quantity	Price Per Piece	Total Price
	1000	\$0.37	_
	.000	φοιοι	\$366
	3000	\$0.35	\$366 \$1,055
			·
BOULDON	3000	\$0.35	\$1,055
: somethings	3000 5000	\$0.35 \$0.34 4" Decorative Sticks 15mm Dia.	\$1,055 \$1,703 1 pc/bag, 100 bags/box,
- ESCHARION -	3000 5000 BGS 214	\$0.35 \$0.34 4" Decorative Sticks 15mm Dia. Individually Foil Packed	\$1,055 \$1,703 1 pc/bag, 100 bags/box, 10boxes/case
	3000 5000 BGS 214	\$0.35 \$0.34 4" Decorative Sticks 15mm Dia. Individually Foil Packed Price Per Piece	\$1,055 \$1,703 1 pc/bag, 100 bags/box, 10boxes/case
- EOWERDANA	3000 5000 BGS 214 Quantity	\$0.35 \$0.34 4" Decorative Sticks 15mm Dia. Individually Foil Packed Price Per Piece \$0.43	\$1,055 \$1,703 1 pc/bag, 100 bags/box, 10boxes/case <i>Total Price</i> \$429
	3000 5000 BGS 214 Quantity 1000 3000	\$0.35 \$0.34 4" Decorative Sticks 15mm Dia. Individually Foil Packed Price Per Piece \$0.43 \$0.41	\$1,055 \$1,703 1 pc/bag, 100 bags/box, 10boxes/case <i>Total Price</i> \$429 \$1,235
	3000 5000 BGS 214 Quantity 1000 3000 5000	\$0.35 \$0.34 4" Decorative Sticks 15mm Dia. Individually Foil Packed Price Per Piece \$0.43 \$0.41 \$0.40 22" Uni-Color Necklaces 5mm Dia.	\$1,055 \$1,703 1 pc/bag, 100 bags/box, 10boxes/case <i>Total Price</i> \$429 \$1,235 \$1,994
	3000 5000 BGS 214 Quantity 1000 3000 5000 BGN 402	\$0.35 \$0.34 4" Decorative Sticks 15mm Dia. Individually Foil Packed Price Per Piece \$0.43 \$0.41 \$0.40 22" Uni-Color Necklaces 5mm Dia. Bulk Packed	\$1,055 \$1,703 1 pc/bag, 100 bags/box, 10boxes/case <i>Total Price</i> \$429 \$1,235 \$1,994 50 pcs/tube, 12 tubes/case
	3000 5000 BGS 214 Quantity 1000 3000 5000 BGN 402 Quantity	\$0.35 \$0.34 4" Decorative Sticks 15mm Dia. Individually Foil Packed Price Per Piece \$0.43 \$0.41 \$0.40 22" Uni-Color Necklaces 5mm Dia. Bulk Packed	\$1,055 \$1,703 1 pc/bag, 100 bags/box, 10boxes/case <i>Total Price</i> \$429 \$1,235 \$1,994 50 pcs/tube, 12 tubes/case

	BGN 403	22" Tri-Color Necklaces 5mm Dia. Bulk Packed	50 pcs/tube, 12 tubes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.29	\$290
	3000	\$0.28	\$835
	5000	\$0.27	\$1,349
\bigcirc	BGN 404	22" Uni-Color Necklaces 5mm Dia. Two-piece connected	1 pc/bag, 60 bags/box, 10 boxes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.46	\$456
	3000	\$0.44	\$1,313
	5000	\$0.42	\$2,121
	BGN 405	22" Dual-Color Necklaces 5mm Dia. Two-piece connected	1 pc/bag, 60 bags/box, 10 boxes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.46	\$456
	3000	\$0.44	\$1,313
	5000	\$0.42	\$2,121
	BGN 408A	22" Uni-Color Necklaces 6mm Dia. Individually Foil Packed	1 pc/bag, 60 bags/box, 10 boxes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.50	\$499
	3000	\$0.48	\$1,438
	5000	\$0.46	\$2,321
	BGN 409	22" Dual-Color Necklaces 6mm Dia. Individually Foil Packed	1 pc/bag, 60 bags/box, 10 boxes/case
<u></u>	Quantity	Price Per Piece	Total Price
	1000	\$0.50	\$499
	3000	\$0.48	\$1,438
	5000	\$0.46	\$2,321
	i	1	
	BGN 410	22" Spiral Necklaces 5mm Dia. Bulk Packed	100 pcs/tube, 12 tubes/case
\bigcirc	BGN 410 Quantity		100 pcs/tube, 12 tubes/case Total Price
\bigcirc		Bulk Packed	
	Quantity	Bulk Packed Price Per Piece	Total Price

<i>ii ii</i>		1	
	BGN411	3" Pendant Necklaces 7.5mm Dia. Two-Piece Foil Packed	2 pcs/bag, 150 bags/box, 10 boxes/case
	Quantity	Price Per Bag	Total Price
	1000	\$0.36	\$363
	3000	\$0.35	\$1,045
	5000	\$0.34	\$1,687
	BGN 412	Hanging Necklaces Individually Foil Packed	1 pc/bag, 120bags/box, 10 boxes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.25	\$248
	3000	\$0.24	\$714
	5000	\$0.22	\$1,115
8	BB303	8" Uni-Color Bracelets 6mm Dia. Bulk Packed	50 pcs/tube, 50 tubes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.086	\$86
	3000	\$0.083	\$248
	5000	\$0.080	\$401
	BB 304	8" Uni-Color Bracelets 6mm Dia. Bulk Packed	50 pcs/tube, 50 tubes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.096	\$96
	3000	\$0.092	\$275
	5000	\$0.089	\$444
公	BB 305	Uni-Color Bracelets Two-Piece Foil Packed	2 pcs/bag,120 bags/box, 10 boxes/case
	Quantity	Price Per Bag (Two Pieces)	Total Price
	1000	\$0.59	\$593
	3000	\$0.57	\$1,706
	5000	\$0.55	\$2,755
00	BB 306	Multi-Color Bracelets Two-Piece Foil Packed	2 pcs/bag,120 bags/box, 10 boxes/case
	Quantity	Price Per Bag (Two Pieces)	Total Price
	1000	\$0.64	\$636
	3000	\$0.61	\$1,831
	5000	\$0.59	\$2,956

0	BB 307	Triple Wrist Strap Two-Piece Foil Packed	2 pcs/bag, 30 bags/box, 10 boxes/case
	Quantity	Price Per Bag (Two Pieces)	Total Price
	1000	\$0.68	\$682
	3000	\$0.65	\$1,965
	5000	\$0.63	\$3,173
00	BG 701	Uni-Color Glasses Individually Foil Packed	1 pc/bag, 50 bags/box, 10 boxes/case
	Quantity	Price Per Piece	Total Price
Γ	1000	\$0.33	\$331
	3000	\$0.32	\$954
,	5000	\$0.31	\$1,541
	BGO 802	Round badges Individually Foil Packed	1 pc/bag, 70 bags/box, 10 boxes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.56	\$564
	3000	\$0.54	\$1,624
	5000	\$0.52	\$2,622
PHOOM	BGO 803	Heart Badges (with / Imprint) Individually Foil Packed	1 pc/bag, 70 bags/box, 10 boxes/case
	Quantity	Price Per Piece	Total Price
_	1000	\$0.87	\$872
_	3000	\$0.84	\$2,512
F	5000	\$0.81	\$4,055
	BGO 804	Round badge (with / Imprint) Individually Foil Packed	1 pc/bag, 70 bags/box, 10 boxes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.87	\$872
F	3000	\$0.84	\$2,512
F	5000	\$0.81	\$4,055
	BGO 807	10" Glow Bone	10 pc/box 10 boxes/case
	Quantity	Price Per Piece	Total Price
	Quantity 1000	Price Per Piece Contact us	Total Price
-			Total Price

00	BGE 502	Uni-Color Hoop Earrings Two-Piece Foil Packed	2 pcs/bag, 100 bags/box, 10 boxes/case
	Quantity	Price Per Bag (Two Pieces)	Total Price
	1000	\$0.41	\$406
	3000	\$0.39	\$1,169
	5000	\$0.37	\$1,826
00	BGE 503	Tri-Color Hoop Earrings Two-Piece Foil Packed	2 pcs/bag, 100 bags/box, 10 boxes/case
	Quantity	Price Per Bag (Two Pieces)	Total Price
	1000	\$0.45	\$445
	3000	\$0.43	\$1,282
	5000	\$0.41	\$2,071
	BGH 901	Silverware Three-Piece Foil Packed	3 pcs/bag, 24 bags/box, 10 boxes/case
	Quantity	Price Per Bag (Three Pieces)	Total Price
	1000	\$1.59	\$1,591
	3000	\$1.53	\$4,582
	5000	\$1.48	\$7,397
	BGH 903	Straws Two-Piece Foil Packed	2 pcs/bag, 100 bags/box, 10 boxes/case
	Quantity	Price Per Bag (Two Pieces)	Total Price
	1000	\$0.46	\$456
	3000	\$0.44	\$1,313
	5000	\$0.42	\$2,121
	BGH 904	Lollipop Sticks Bulked Packed	50 pcs/bag, 20 boxes/case
	Quantity	Price Per Piece	Total Price
	1000	Contact Us	
	3000	Contact Us	
	5000	Contact Us	
	BGH 905	Ice Cream Sticks Bulked Packed	50 pcs/bag, 20 boxes/case
	Quantity	Price Per Piece	Total Price
	Quantity		
	1000	\$0.23	\$226
	_	\$0.23 \$0.22	\$226 \$652

	BGH 907	Champagne Bottles Two-Bottle Packed	2 bottles/set, 10 sets/case
	Quantity	Price Per Piece	Total Price
	1000	Contact Us	
	3000	Contact Us	
	5000	Contact Us	
	BGT 101	Balls Individually Packed	12 pcs 8" sticks + 2 connectors /card 60 cards/case
	Quantity	Price Per Card	Total Price
	1000	\$1.07	\$1,070
	3000	\$1.03	\$3,081
	5000	\$0.99	\$4,974
	BGT 102	Bouncing Balls Two-Ball Packed	2 balls/card
	Quantity	Price Per Card	Total Price
	1000	\$1.64	\$1,637
	3000	\$1.57	\$4,716
	5000	\$1.52	\$7,614
X	BGT 103	Gyros Individually Packed	10 sticks + 1 gyro part/card, 200 cards/case
	Quantity	Price Per Card	Total Price
	1000	\$1.45	\$1,454
	3000	\$1.40	\$4,189
	5000	\$1.35	\$6,763
	BGT 104	Devil Horns Two-Horn Packed	2 horns/card
	Quantity	Price Per Card	Total Price
	1000	\$1.64	\$1,637
	3000	\$1.57	\$4,716
	5000	\$1.52	\$7,614
	BGT 105	Whistle Individually Packed	1 pc/bag,100 bags/Box, 6 boxes/case
	Quantity	Price Per Piece	Total Price
	1000	\$0.66	\$661
	3000	\$0.63	\$1,903
	5000	\$0.61	\$3,072
			1

		T	
V	BGF 1002	1" Fishing Stick 2.9mm Dia. (Dry Power Glow, at least 24 Hrs.) Two-Piece Foil Packed	2 pcs/bag, 150 bags/box, 10 boxes/case
	Quantity	Price Per Piece	Total Price
	2000	\$0.13	\$260
	5000	\$0.12	\$600
	10000	\$0.11	\$1,100
	BGF 1004	1.5" Fishing Stick 4.5mm Dia. (Dry Power Glow, at least 24 Hrs.) Two-Piece Foil Packed	2 pcs/bag, 50 bags/box, 20 boxes/case
	Quantity	Price Per Piece	Total Price
	2000	\$0.15	\$300
	5000	\$0.14	\$700
	10000	\$0.13	\$1,300
W	BGF 1005	2" Fishing Stick 5mm Dia. (Dry Power Glow, at least 24 Hrs.) Two-Piece Foil Packed	2 pcs/bag, 50 bags/box, 20 boxes/case
	Quantity	Price Per Piece	Total Price
	2000	\$0.19	\$380
	5000	\$0.18	\$900
	10000	\$0.17	\$1,700
j	BGF 1006	2" Fishing Stick 6mm Dia. (Dry Power Glow, at least 24 Hrs.) Two-Piece Foil Packed	2 pcs/bag, 50 bags/box, 20 boxes/case
	Quantity	Price Per Piece	Total Price
	2000	\$0.21	\$420
	5000	\$0.20	\$1,000
	0000	1	